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Chapter 6 Test Review Name:
Algebra 1 Period: Date:

Tell whether the ordered pair is a solution of the linear

system. S'( %)—'-(- (§>: 20

L @D ey 2 G D -R0= 30
x + 2}1 — 2 b ’-’9;\ Zan S.T = 4_]' = 20 aosgb
x—2y=6 L| D\C“\} © 3_1-' =2x + 1 3(?)_::(8) + |

@ LHR,(,\/ l‘S—;Z‘ﬁ @

For numbers 3 & 4, graph the linear system, then answer the

following questions: V=t 7
3. % 3+ 20 \‘L\ /// a) What is the
y = Ex + 4 /}‘" solution to the
system?
,n: > r{/‘ ystem ( Dn '-l)
b=+ R b) Find th f
ind the sum of x
\':’%'L A \K* and y values. il
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.
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=0
¢ Z( - _3 a) What is the
solution to the
system? (=73, o)
Pa —
&
b) Find the sum of x
and y values.
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Solve the linear system using substitution. (3 3\}
————
5. 'Eﬁ ¥+ 1 ‘ 3 b )
X+ 2y=17 i’
Yol Aoy =T
dSux\=7]

Solve the linear system usi:g :I.i!n‘ai:lation. \/: L{" - I
7. x=2y+4 =~
Ay =2 G é‘}”\/’ 4e) <Q,"b
Dxrtysr @AYy
Ax~4y=% —2Tay
+ Y .\,q\\lj =2 3{_-9(
s.aix+3y=? 5% =10 )
QY Tx+2w=9 ‘3)(_5?
—S$r —lby=")4 — \
Ay H”jl =30 _q+3)"_'f? Q. )
12%7 1D A3
=1 ol

Determine whether the linear system has one solution,
no solution, or jnfinitely m 1

9. 3x—y=35 10. y = 2x — 1 1.3x + y =12
yp=3x—3 y=2x+1 y=3x+12
- L Y

N = F\ =4 3X+y = |2
> 5_ jﬂéﬁr\{:i -3x+¥=13
—_— \—;,%_
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12. The sum of two numbers is —5, and the
difference of the two numbers is —17.

a) Write a linear system.
X A \/ = -5
X — Y = - \1

. —11
b) Find the numbers: -
_ ~|+y=- b
EY S P SR R ¥Td
>~ 2., =6

13. Owen went to a farmers ma t_last week bought 6 cantaloupes and 4 watermelons
for a total of $36. At the same market, Brendan bought 4 cantaloupes and 5
watermelons for $36.25.

a) Writealineaz_):si. 6 C + wa :_\3(0
( L’D ﬂ(_ +5wW= 36 A5

b) Find the cost of each cantaloupe and each watermelon
N 30wz 4D L= $a.50]

lpC +0W ~ [4G (QSQ‘I'SLQJ:?‘Q
_—-——-——-—:———"’_ -

¢) How much would it cost to ;J!'(I;rfagé ;) c;t:asléupes and 3 water#’? .
10(2 $0)+ 3(5.35) @ﬁ
14. AIR Practice l ‘L\ 0.15)

A theater sells tickets for a concert. Tickets for lower-level seats sell for $35 each, and tickets for
upper-level seats sell for 525 eacl. The theater seII@ickets for $10.250.

\1

(VA
4
P o}

How many tickets of each type were sold?
E)wer level tickets: | | Sp
I_.\sbper level tickets: 360
Y+Y =350 — 7 [x=350-v)

w5t asy” 0

3@ 25y I, 250

DCASD-M: (0350
125D 10y =10 492
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15. Dennis mowed his next door neighbor’s lawn for a handful of dimes and nickels,
80 coins in all. Upon completing the job he counted out the coins and it came to $6.60.

a) Write a linear system. O& rNn-= Q‘O H d": ?D‘h
-\DE\- .og(\-‘" (p,lpo

~ OSn™

b) How many of each coin did he earn?

0(0-n) +.05N= 6.0

~- 0N +.05N*> 6.0
310 ~.0PN=6.60

16. Graph the system of linear inequalities below. Then answer the_q.l.egtlon

y<4 EEPERSEZZiEsaamEs — Circle all points that
S . are solutions to the
x+3y=>6 S gystem:
X X T ]
/ " —
2%l \
— —
= ™D

17. AIR Practice

A system of equations 1s shown.

y=3x-2 qu’ —

y= Vo=~ A

What are the solutions to the system of
equations?
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